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— ~ TKU Company purchased a mine for $70 million which is estimated to have 250,000 tons of
ore and a salvage value of $10 million. There is no beginning inventory for Lowe. In the first year,

50,000 tons of ore are extracted and sold 45,000 tons of them. The other costs that are related to the
mining production costs included: Ore utility costs occurred $500,000 (all paid by cash), labor costs

$300,000 and other ore equipment depreciation expenses $750,000. (15%)
Instructions

(1) How much the depletion expense for the year?

(2)What is the inventory cost per ton for ore?

(3)What are the costs of goods sold for the year?

— ~ Identify each statement below as true or false. (18%)
Depreciation is a process of asset valuation, not cost allocation.
Depreciation provides for the proper matching of expenses with revenues.

The book value of a plant asset should approximate its fair value.

Depreciation does not apply to a building because its usefulness and revenue-producing ability generally
remain intact over time.

The revenue-producing ability of a depreciable asset will decline due to wear and tear and to obsolescence.

The balance in accumulated depreciation represents the total cost that has been charged to expense.

= ~ Show the debits and credits to retained earnings(12%):

Retained Earnings

1. 1.
2. 2.
3.
4.
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g ~ What is “Revenue Recognition Principle” and “Matching Principle”? Why we need adjusting

entries? (15%)
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